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X aa 5o X2 382,880 383,600 NT20
203 HF=AH] 2,880 3,600 ANT20
03 A= PR F&IH| 2,880 3,600 AT20
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01 &%= 390,000 390,000
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= 390,000
AS= HiECl HAIS A 2435 XIZAE 800,000 800,000
306 E¢= 800,000 800,000
01 9= 800,000 800,000
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o 800,000
HIAXIE 2 & ATHY 0L X 450,000 0 450,000
IR &g =& 450,000 0 450,000
He 22 BASEE 2aits 2S)| Al 450,000 0 450,000
306 £= 450,000 0 450,000
01 2d= 450,000 0 450,000
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01 HAHHBSEEXS 100,000 100,000
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[ 4,737,000
= 982,500
403 AXIEHHSAH=201H 5,719,500 0 5,719,500
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01 AR A =2 £ 5,719,500 0 5,719,500
O==8ol JI8t =AMAIIX FS ALY 3,087,000
s 2,712,000
== 375,000
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[ 2,025,000
= 607,500
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403 AXIEHHSAH=201H 2,850,000 0 2,850,000
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403 AXIEHMSAH=0l 2,540,000 2,540,000
01 A= 2L 2,540,000 2,540,000
OFADIA 42| SEHXY 2 K& 2,540,000
S2 PG 2t 2= 9,576,579 4,828,000 4,748,579
= 7,723,723
= 1,852,856
403 AXIEHHSAH=201H 9,576,579 4,828,000 4,748,579
= 7,723,723
= 1,852,856
01 AXISHHA=2EXL 9,576,579 4,828,000 4,748,579
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= 7,723,723
== 1,852,856
Nees(S$ASE3ML) 21,060,000 21,060,000 0
WEHAHXS(EASEHZ D) 21,060,000 21,060,000 0
HUXI&S S4 20,310,000 20,310,000 0
701 JIEHRI NS EES 20,310,000 20,310,000 0
01 JIEI AN ES 20,310,000 20,310,000 0
SN KNSTZALA S22/ 20,310,000
oz M Jls 882 750,000 750,000 0
(VAP TSE= 750,000 750,000 0
0 JIsdEsS 750,000 750,000 0
o232 dE D= dHE2S 750,000
HH2LIH(EASEINY) 67,240 67,240 0
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201 er23 | 32,000 32,000 0
01 At22t2lt] 32,000 32,000 0
O2~SEZ N 20 g2d 32,000
202 04l 32,000 32,000 0
01 =LHAHI 32,000 32,000 0
OASEZ N 20 g2F4 32,000
203 =8| 3,240 3,240 0
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